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1. Overall Description:

RAN2 has discussed the way that system information would be transmitted in 20 MHz bandwidths over the LTE system and has analyzed different proposals [1], [2], [3], [4].
These proposals are based on the assumption that the minimum UE receiver capability in the UE is 10 MHz. RAN2 would like to highlight to RAN1 that the assumption of a 10 MHz minimum receiver capability imply a certain increased complexity and duplication of information in the design of the channels for the broadcast of the system information and would like to have RAN1 and RAN4 view on the following points:
During the discussion it has been found that the protocol complexity could be significantly reduced if the minimum UE receiver bandwidth capability would be somewhat higher than 10MHz i.e. 10MHz + B/2, where B would be at least 1.25 MHz, but preferably 2.5MHz, 5 MHz or more, such that at least part of the system information (also referred to as primary system information or static part in the RAN2 discussion) transmitted in the central part of the 20 MHz carrier can be received by all UEs, independently to which part of the 20 MHz bandwidth they have tuned their receiver.
(A) Is it possible to change the assumption for the minimum UE receiver bandwidth to 10.625, 11.25, 12.5 MHz or more without significantly impacting the UE complexity?
In order to allow a specific design for the broadcast channel of a 20 MHz cell it would be necessary that the UE would be aware whether the cell is a 20 MHz cell before the reception of the system information on BCH.
(B) Does the reading of the synchronization channel according to the current RAN1 assumptions allow the UE to determine that the cell uses 20 MHz bandwidth. 
It is RAN2s assumption that for an optimal reading of remaining system information the grouping of this information into big blocks that are transmitted during short time intervals on a large bandwidth (e.g. corresponding to the minimum UE capabilities) maximises the coding efficiency and minimizes the reading time for this information and thus the UE power consumption.
RAN2 has not yet decided on the way that MBMS would be scheduled inside a 20 MHz bandwidth cell. However, considering a minimum receiver bandwidth capability of less than 20 MHz for a UE receiving MBMS would imply that a UE depending on the MBMS service that it is receiving might need to tune its receiver to the leftmost or rightmost part of the 20 MHz cell. The UE would then not be able to receive system information.

Therefore RAN2 considers that the minimum UE capability of a MBMS capable UE would be 20 MHz.

(C) Is it acceptable that the minimum UE receiver bandwidth for MBMS capable UEs is set to 20 MHz?
2. Actions:

To RAN1, RAN4 group.

ACTION: 

RAN2 asks RAN1 kindly to answer to the question A, B and C.
RAN2 asks RAN4 kindly to answer to the question A and C.
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